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Koanuectso nopumii 18 18 18 18 18
Boixon — Bec nopumii 250 70]150/5 25 100 15 50
pbiba ¢/m 0,000 0,00 0,00]
CBEKJIa 65 1,170 1,170| 70,00 81,90 0,981 0,005 6,175 29,9
|kapTodens 50( 0,900 177] 3,186 4,086] 60,00[ 245,16 0,695 | 0,095 9,29 42
JIYK 10{ 0,180 10| 0,180 0,360| 60,00 21,60) 0,218 | 0,016 1,774 8,2
MOPKOBb 10{ 0,180 8| 0.144 0,324| 80,00] 2592| 0,127 | 0,045 1,337 6,48
MacJjio pacTuT 2| 0,036 3| 0,054 1| 0,018 0,108] 180,00 19,44 5,994 53,94
colib 1 0,018 4] 0,072 0,090| 37,00 3,33
TOMAT nacra 5| 0.090 3| 0,054 0,144| 400,00 57,60] 0,345 | 0,037 1,512 6,56
MaKapoHbl 0,000 0,00 0,00]
MacJio CJIIHB 3| 0,054 5| 0,090 0,144| 600,00 86,40 0,064 5,8 0,104 52,88
Oryper KOHCEPBHP 25| 0,450 0.450| 201,76 90,79] 0,7 0,325 4,025
MyKa 46| 0,828 0,828 45,00 37,26] 4,751 0,450 | 35.102 167.44
caxap 1| 0,018 0,018 100,00 1,80 1 4
| APOIKIHKH 1] 0,018 0,018] 1050,00; 18,90] 0,127 | 0,027 0,751
ChIp TBEP/IbIii 0,000 0,00 0,00]
vaii 0,000 0,00 0,00
5010K0 0,000 0,00 0,00
L0 1/6] 3,000 3,000{ 13,00 39,00 1 0,833 0,066 13,333
(hune kypunoe 80 1,440 1,440 596,00| 858,24] 0.8 24 60
COK 50| 0,900 0,900 70,00 63,00{ 0,25 0,05 5,05 23
Badun 15[ 0,270 0,270{ 398,00 107,46] 1,095 1,432 7,326 46,5
O6wee no BAK/Y 11,153 | 17,184 | 69,061 | 519,009
Hroro 1757,80
97,66




